Algebra 2 Placement Test

Simplify or put in standard form.
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Add or Subtract.
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Solve using scientific notation.

9. (.0009)(.027) =

10, 3.700,000 _
002

Solve for the unknown.

11. 2X2 - 9X = 35

12. X% +4X -4 =-3X

Find the solutions for each pair of equations. Sketch a graph of each equation, and show

the solutions.

13. Y=X2+2 14. X2 +Y%2=1
Y=X+2 X% Y2 =1
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Answer the questions.

15.

16.

17.

18.

19.

A new computer is being discounted 15%. If the original price was $1,565, what
is the new price?

The atomic weight of sodium (Na) is 23 and that of chlorine (Cl) is 35. What is
the percentage of sodium in NaCl?

The ratio of cats to dogs is 5 to 18. If there are 10 cats, how many dogs are
there?

There are .62 miles in 1 kilometer. How many miles are there in 10 kilometers?

Michael and Alexandra left their home at 8:00 AM to drive to New York. Michael
drove at 55 mph and arrived at 5:00 p.m. Alexandra drove at 45 mph and
arrived at the same place as Michael. What time did Alexandra arrive?
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20.

21.

22.

23.

24.

| have 15 coins in my pocket. They are all either dimes or quarters. The value of
the coins is $3.15. How many of each coin do | have?

Find three consecutive even integers such that three times the first, plus two
times the second, minus the third equals 16.

A landscaper wants 100 pounds of grass-seed mixture that is 45% type A seed
and 55% type B. He has a mixture that is 10% type A and one that is 60% type A.
How much of each should he use to make the desired mixture?

In six years, Rose will be two times as old as Anne. Four years ago, Anne was
one-third the age of Rose. How old are they now?

A boat can go 26 miles downstream in the same time it takes to go 6 miles
upstream. The rate of the water is 5 mph. What is the rate of the boat?
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